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WV Additional Mathematics - i
“Time: 3 hrs. Max. Marks: 100

-each module.

Note: Answer any FIVE full questions, choosing @NE full question fro

Mo dgi@- 1

1 a. Find the rank of the matrix:
23 5w

A=10-2"3 4
481312

(08 Marks)

xryv+dp=ll 4
4x +11ly-z=33

8x—3y+2z=20 (06 Marks)

50, will be treated as malpractice.

(06 Marks)

3

2 a. Reduce the matrix
1Eo 0 30

2.3 5 1
1345

(06 Marks)

(06 Marks)

(08 Marks)

(08 Marks)

b. Solve 63—1@#17?—’+12y e™ (06 Marks)

%
ont (06 Marks)

c. Solve y"—4y'+13y = cos2?

OR

(08 Marks)

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

(06 Marks)

(06 Marks)
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“Find the probability th d : 1
~ An office has 4 secretaries handling 20%, 60%, 15%, 5% respectively of the files of certain

17MATDIP41

Module-3 V S
Find the Laplace transforms of sin5t cos2t (06 Marks)
Find the Laplace transforms of GBt+ 4)3 £ (06 Marks)
sin2t 0<t<m
Express f(t)= ;
0 t>7 Ry, °
in terms of unit step function and hence ﬁmn”@l L[f(t)]. (08 Marks)
i, ’}
(06 Marks)
Find the Laplace transform of }m" » (06 Marks)
If fity =1, 0<t<2 andufif +2)=1f(t), fort>2, find LIf(t)]. (08 Marks)
: Module-4
-s 4 -28

2’6 -~ 3—6—— (08 Marks)
(06 Marks)
(06 Marks)

G
e

2

Solve by using Laplace Transform %t.z}i + kZ@’

=2,y'(0)=0. (08 Marks)

Find inverse Lapf (06 Marks)
;@ V:m.w‘:
Find L} T—S’—tl——] : (06 Marks)
: +6s+9
P(B) - P(ANB (06 Marks)

ata bheap year selected at random will contain 53 Sundays. (07 Marks)

- reports. The prob”%i;%ifies that they‘ngjsﬁyle such reports are respectively 0.05, 0.1, 0.1 and

0.05. Find the® rgﬁ%ability thata rmsﬁ ed report is caused by the first secretary. (07 Marks)
£ %)

pe CMRIT LIBRARY
State and prove Baye’s thed%m. : (06 Marks)
A problem is given tO fotir students A, B, C, D whose chances of solving it are
1/2,1/3, 1/4,1/5 respectf%‘é‘fy. Find the probability that the problem is solved. (07 Marks)
Three machines A, B, C produce 50%, 30% and 20% of the items in a factory. The
percentage of dgfé@i«% outputs of these machines are 3%, 4% and 5% respectively. If an
item is selected at random. What is the probability that it is defective? If a selected item is

defective, what is the probability that it is from machine A? (07 Marks)

* k K %k ok

2 of2




